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METODO DEL SIMPLEX EN FORMATO TABLA

X1

I’Nk

Sin pérdida de generalidad, supéngase que B = (@ ... Q).
r1y ... T, Tm Tm+1 TNy, S Ty
0o ... 0 0 Zmt1— Cmt1 ZN, —CN, --- Zn—Cn| Z
r | 1 ... 0 0 Y1,m+1 Y1,Ny, Y1i,n T
zg, | 0 1 0 Yim+1 YI, N, Yin Tp,
Tm 0 0 1 Ym,m+1 Ym, Ny, Ymn T
Actualizacién de la base: B’ = (a1 ...a1—1 an, Giy1-..Gm)
€ TB, Tm Tm+1 TNy, Tn
/ / /
0 Zp, — CB 0z, = Cmg1 0 2, — Cp
/ / / =/
1 Y1, 0 Y1,m+1 0 Yin T
/ / / —
0 Y1.B 0 Yim+1 1 Yin TN,
/ / / —
0 ym,Bl 1 ym,m+1 0 e ym,n Lo,




